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In the expansion of (X~ +—-)", If the

coefficent of the fourth term equals the
coefficent of T ,, then the value of . =
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IfA=(-2,4,6),B =(0,k,3 )such that ((Tetev)= P oS3l
k € Z+and||AB||=7, then the value of o D8 (YL .)=:
k=..... | =355.613Q\§V=||ﬂ”053
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B Without expansion the determinant , PO el sl &b 0 g0
Prove that : oy
1 1 1 > <
a b c|=0B-a)(c—a)c—Db) > o
a’ b* c?
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If Z = (1++v3i)" and || =38, e TV ) g S5
then the principle amplitude for the number | 5 LY 20l 06 A= | &] 0T
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B3 1n the Cartesian plane xy if § is the measure | 05 13} 2 o SaeY) (6 st b

of the angle between 4 and B , 00 © P ol
then lAxB 1 _ .. ox 7 "
=.5 7 = ”i i” 1o
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Find the term contains x* in the expansion for e Jeia) asdl as]
1 : : \ .
of (x? — o )12 according to the descending ( S ") 858 B

power of x, then find the ratio between the | 45! @ AL g e

coefficient of this term and the middle term. | #5319 =31 1o Jalas o 4l
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Bl Find the different forms of the equation of | Dolasd  dall sl sl
the plane passes through the point (2, — 1, 0) | (< )-¢¥) aaadl Hldl 6 gl

and the vectort = 41 + 107-7k HV-P\ b= asdl
is perpendicular to it . Ade G350
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Bl (1 + )" = a+ bwsuch that a and b are o O+ =(@+1) 513
two real numbers, then (a,b)=....... | . =P b ol glsas ol

@ (-1 ® (LD SO0
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Find the different forms of the equation of
the straight line passes through the point
(3,2 ,—1) and makes equal angles with the
positive directions of the coordinate axes .

Lozl sl ddkisd) | gual) dsm sl
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Sl e & glue by a9
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Solve the following system of linear

equations using the inverse matrix:
2z—3y =7,y+5x =4,
x—2y—z=1

plasal, LY Yl ol J
Bogradd) ol Sl

(t= ot V= ov-Ev
V=E-o V-
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A - 4 person committee is to be formed e e 0Pl € e dind o ST sl
out of 9 men and 3 women. The number of | I ol sae 3 2l ¥5 Sy a
committees contain only one woman = ....... | ... 9o Ladb duslg 3 o) e (g g0

3 9 3 9 A ¥ 4 ¥
@ C,+7C, @ C, x7Cy r4.:><‘u@> RN
3 9 3 9 4 v 4 ¥
© P, Py @ P, + 7Py L YJX\J@
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The equation of the straight line passes

through the two points A(2,1,-3),
B(1,2,-5)is:............

@ 7= (-1,2,-2)+k(2,1,-3)
® 7=(1,2,-5)+k(2,1,-3)
© 7= (3,2,4)+k(-1,1,2)

@ 7= (2,1,-3)+k(-1,1,-2)

Oy S ) Dslas

(O-c\'c\)g ¢ (V-L\c\')P
............. <
(- VD) IH(v-va\-)=0m @

(f- Ve Y) B+ (o-cveN)=0m @
(v Vv ) S+ (ever)=0m @

(Y-N ) S (v-avev)=0m @
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Answer one of the following two items: $ LGN (0o p38T Gk | (e
_ 8(V3+D) i ' @+ ¥ Y)A e
(A If Z = N then find its cubic roots — = - g o8 ()

in the exponential form. saall LSl sdadl dm gl

. . 1 1 -
B IFCe+y)(1-30) =37 [+ —— || L5, SES,0
, find the value of each of the real (Lr=1) (et ) 05 131 (<)

\
numbers x and y .

\
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Olid> lods o ¢ il
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If "Co: "C;=7:9,thenn=........ ‘&:V=Vu°:ﬁd""gt§\sg

.................... = Ol
@ 7 ® 15 e v
© 16 @ 9 v (® S

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead



YN YA aal yd ALatt - J9¥1 5931 - (A 3ulod ) ARIY) Al 1M Bkl g yimnd! - Aalal) Ay g3LEH Al yAM1 ALGH! BaLgs s Loncial

The equation of the sphere with center

(2,-3,4) and touches xy — plane is :

@ x—2+@+3)°+((z-4)?*=4
® x—-2+@+3)°+(z—-4)*=9
© x=2+@+3)*+(z—-4)*=16
@ (x+2)*+@-3)°+(z+4)?*=16

Azl S e 318,801 Dol
Y 6 stadl usdy (£c¥-cY)
"o+t -0 @O
- e - @
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The equation of the plane passes through ezl HW) 6 grddl Dslas
the point (3,4, 5) and parallel to the o= Sl (0 & )

coordinate axes X , Y 1S: .........ce. | e, P02 o oldlasyl

@ x+y=7 ® z= 0= @ v D
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Answer one of the following two items:
(A) ABC is a triangle in which A(2,3,1),
B(3,54), BC=(-1,4,0)
Find: (1) m(ABC)
(i1) The direction component of
AC in the direction of AB
(B)IfA , B , C are three adjacent edges in
a parallelepiped such that: A= (1,4,2)
B =(-3,2,1),C=(-1,1,4)
Find : (i) The volume of the parallelepiped
(ii) The height of the parallelepiped
drawn on the base defermined
by the two vectors A B,
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(Veren)las il > < b ()
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(2P X) 0 () s
axael) dealos VI AS W) (i)
‘U_P o\.?d\é ‘}_P
> o T ad s gl (9)
Eom by loe 1 B
(VY )= Se(Yeg)= b
(£V V)= >
CM‘&)‘ﬂﬁ*&{‘ (i)
gkl ol iyl wasl (i)
3ol Basldl o g5l
<o b ol
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